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QUESTION 1

A Micro Process Map may map a process showing the entire activities of a department and can likely be broken into
many Macro Process Maps showing numerous processes that comprise the activities of the department. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 2

Which of these items contribute to what is necessary for successful Kaizen events? 

A. Analysis tools 

B. Management support 

C. Operator support 

D. All of these answers are correct 

Correct Answer: D 

 

QUESTION 3

When a Belt utilizes a problem solving approach that is automated thus requiring no particular understanding for use it is
called ___________________ . 

A. No Brainer 

B. Mistake Proofing 

C. Auto-defective 

D. Self-Regulating 

Correct Answer: C 

 

QUESTION 4

The perfect sample size is the minimum number of data points required to provide exactly 6% overlap or risk if one
wants a 95% confidence level. 

A. True 

B. False 
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Correct Answer: B 

 

QUESTION 5

A Belt has determined that the way a printed circuit board is soldered can reduce network by 20% thereby improving the
RTY. According to Cost of Poor (COPQ) definitions RTY improvement would be considered ______________. 

A. Hard savings 

B. Downsizing savings 

C. Soft savings 

D. Median savings 

Correct Answer: A 
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